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ANNUAL EXAMINATION 2015-16 

SUB: Maths ¼xf.kr½ 

Class : VII 

Time : 3 Hrs.                    MM: 100 

 

SECTION – A ¼lsDlu & c½ 

iz-1 Short solution ¼y?kq mRrjh;½ 10 

 1- Solve it  ¼gy djs½ 

  (a) 2233 62(
2

1
yxandyx    (b)   )5(3)(2  mnm  

 2- Find value of x ¼x dk eku Kkr djs½ 

  (a) 22)53(2 xx   (b) 4325  xx  

 3- If the diameter of a circle is 12cm, what will be its radius. 

   ¼,d oR̀r dk O;kl 12 lseh gS] rks mldh f=T;k fdruh gksxh\½  

 4- Find the volume of a cube  ¼?ku dk vk;ru Kkr½ 

  (a) 3.5 cm    (b) 5 m. 

 5- Find the factor of  ¼loZ xq.ku[k.M Kkr dhft,½ 

  3322 18,9,9 yxzxyxy  

Q.1 to Q.10   (3×10=30) 

1- Find the surface area of a cuboid whose length breadth and height are respectivelly 10cm 

8cm and 5cm?   

 ,d ?kukHk dh yEckbZ 10lseh] pkSM+kbZ 8 lseh- vkSj Å¡pkbZ 5 lseh- gSA ?kukHk dk i`"Bh; 

{ks=Qy Kkr dhft,A 
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2- Solve ¼gy djs½ 

 74.0)25(16.0  xx  

3- Simplify ¼ljy djs½ 

    52222 6
7

1
7 xayay 






  

4- )3(5)43(2 3322
yzyzxyx   

5- If 8x = 35
2
 – 27

2
 Find the value of a 

 vxj 8x = 35
2
 – 27

2
  rks a dk eku Kkr djsA 

6- Factorize using Ideates ¼loZlfedkvks dk mi;ksx djs xq.ku[k.M Kkr dhft,½ 

 222 251236 nlmml   

7- Draw a circle of Radius 7.5 cm.  

 oR̀r dk fujfeZ.k dhft, ftldh f=T;k 7-5 lseh- gksA 

8- Find the Area of Rectangle whose length = 8cm and Breadth is 9 m. 

 vk;ru dk {ks=Qy Kkr dhft, ftldh yEckbZ ¾ 8 lseh- rFkk pkSM+kbZ 9 eh- gSA 

9- A cubical solid wooden block contain 36 cm
3
 wood. If its length and breadth are 

 respectively 4 cm and 3 cm. Find the height.  

 ,d /kukHkkdkj Bksl ydM+h ds VqdM+s esa 36 lseh3 ydM+h gSA ;fn mldh yEckbZ 4 lseh 

 vkSj pkSM+kbZ 3 lseh- gks rks mldh Å¡pkbZ Kkr dhft,A 

10- Subtract ¼?kVkbZ½ 

 4253 2  xandx  

Long Solution ¼nh?kZmRrjh;½   (4×5=20)  

iz-1 Simplify ¼gy djs½ 

 )2(13)(10)32(
7

1 22
yxyxxx    
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iz-2- The sum of two consecutive odd number is 88. Find the number. 

 nks Øexr fo"ke la[;kvksa dk ;ksx 88 gSA rks la[;k,¡ Kkr dhft,A 

iz-3- A rectangular park is 90cm long and 75m wide. A path 5m wide is to be build outside 

 around it. Find the area of the path. 

 ,d vk;rkdkj cxhpk 90eh- yEck vkSj 75 eh- pkSM+k gs] mlds ckgj pkjksa vksj ,d 5eh- 
 pkSM+k jkLrk cuk gqvk gSA jkLrs dk {ks=Qy Kkr dhft,A 

iz-4 The number of bulbs sold by a shopkeeper in six consecutive days is as follows. 

 ,d nqdkunkj }kjk N% Øekxr fnuksa esa csps x, cYcks dh la[;k bl izdkj gSA 

fnu 
(Days) 

jfookj 
(Sunday) 

lkseokj 
(Monday) 

eaxyokj 
(Tuesday) 

cq/kokj 
(Wednesday) 

xq:okj 
(Thursday) 

'kqØokj 
(Friday) 

csps x;s cYcks dh la[;k 
(No. of bulbs sold) 

55 32 30 25 10 20 

 Draw a graph to represent the above information. 

 bl lwpuk dks naM vkys[k }kjk fu:fir dhft,A 

iz-5- A match box measure 4cm ×2.5 cm × 1.5 cm what will be the volume of a packet 

 containing. 

 ,d ekfpl dh fMCch ds eki 4 lseh  2-5 lseh  1-5 lseh gSA ,slh 12 fMfCCk;ksa okys 
 ,d iSdsV dk vk;ru D;k gksxk\ 

SECTION - B ¼[k.M& c½   (6×2 =12) 

iz-1 Fill in the blanks ¼[kkyh LFkku Hkjks½ 

 1. Volume of a cube is ........................  

  ?ku dk vk;ru ------------------------------ gksrk gSA 

 2. The sum of the interior angle of a quadrilateral   

  prqHkqZt ds vr% dks.kks dk ;ksx -------------------------------gksrk gSA 

 3- Diameter of circle = 2 × .............................  

  oR̀r dk O;kl = 2 × -------------------------------------- 

 4. Number of vertices in a cube is  

  ?ku esa ---------------------------'kh"kZ gksrs gSaA 
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 5. Diameter of circle = 2 × .............................  

  oR̀r dk O;kl = 2 × -------------------------------------- 

 6. Angle in a semicircle is ..............................  

  v/kZoR̀r esa cuk dks.k ,d -----------------------------gksrk gSA 

Q.2 Define ¼ifjHkkf"kr djs½ 

 (a) Diameter ¼O;kl½  (b)  Volume ¼?ku½ 

Q.3 Choose the appropriate option       2×4=8 

 lgh fodYi pqudj fyf[k,A 

 (1) Diameter of a circle is  ¼oR̀r dk O;kl gSA½ 

  (a) Minor arc  ¼y?kq pki½ (b) Major arc ¼nh?kZ pki½ 

  (c) Chord ¼thok½   

  (d) The longest chord of the circle ¼oR̀r dh lokZl cM+h thok½ 

 (2) The number of axes of symmetry for a square is  

  fdlh oxZ esa leferh ds v{kks dh la[;k gksrh gSA 

  (a) 4 (b)    3 (c) 4  (d) 1 

 (3) If the side of a cube is doubled, its volume will be 

   fdlh ?ku dh Hkqtk dks nqxuk djus ij mldk vk;ru gksxk 

  (a) Double  ¼nqxuk½  (b) Three times ¼frxquk½ 

  (c) Four time ¼pkj xquk½ (d) Eight times ¼vkB xquk½ 

 (4) The surface area of a cuboid is  ¼?kukHk dk i"̀Bh; {ks=Qy gksrk gS½ 

  (a)  hlbhlb    (b)    12 hbhlb   

  (c) lhb  (d) hbl  )(2  
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